

भारत सरकार **Government of India** सूक्ष्म, लघु एवं मध्यम उद्यम मंत्रालय



Ministry of Micro, Small and Medium Enterprises

UDYAM REGISTRATION CERTIFICATE

UDYAM REGISTRATION NUMBER

UDYAM-MH-17-0181848

NAME OF ENTERPRISE

S K EXPORT AND IMPORT

TYPE OF ENTERPRISE *

SI	SNo. Classification Year		Enterprise Type	Classification Date	
	1	2024-25	Micro	23/03/2025	

MAJOR ACTIVITY

MANUFACTURING

SOCIAL CATEGORY OF ENTREPRENEUR

GENERAL

NAME OF UNIT(S)

S.No.	Name of Unit(s)
1	S K EXPORT AND IMPORT
2	S K FOODS

OFFICAL ADDRESS OF ENTERPRISE

Flat/Door/Block No.	FLAT NO.E-101,E WING	Name of Premises/ Building	SHREE SHAKUN GREENS, BLDG 6
Village/Town	VIRAR WEST	Block	SECTOR II
Road/Street/Lane	DONGARE NARINGI	City	VASAI
State	MAHARASHTRA	District	PALGHAR, Pin 401303
Mobile	8454932807	Email	ktgaikwad2020@gmail.com

DATE OF INCORPORATION / REGISTRATION OF ENTERPRISE

26/04/2023

DATE OF COMMENCEMENT OF PRODUCTION/BUSINESS

26/04/2023

NATIONAL INDUSTRY CLASSIFICATION CODE(S)

SNo.	NIC 2 Digit	NIC 4 Digit	NIC 5 Digit	Activity
	9			
1	46 - Wholesale trade, except of motor vehicles and motorcycles	4659 - Wholesale of other machinery and equipment	46599 - Wholesale of other machinery, equipment and supplies n.e.c. including computer-controlled machine tools and computer-controlled sewing and knitting machines	Trading
2	46 - Wholesale trade, except of motor vehicles and motorcycles	4669 - Wholesale of waste and scrap and other products n.e.c.	46691 - Wholesale of industrial chemicals,	Trading
3	46 - Wholesale trade, except of motor vehicles and motorcycles	4669 - Wholesale of waste and scrap and other products n.e.c.	46692 - Wholesale of fertilizers and agrochemical products	Trading
4	47 - Retail trade, except of motor vehicles and motorcycles	4721 - Retail sale of food in specialized stores	47211 - Retail sale of cereals and pulses, tea, coffee, spices and flour	Trading
5	47 - Retail trade, except of motor vehicles and motorcycles	4721 - Retail sale of food in specialized stores	47219 - Retail sale of other food products n.e.c.	Trading
6	21 - Manufacture of pharmaceuticals, medicinal chemical and botanical products	2100 - Manufacture of pharmaceuticals, medicinal chemical and botanical products	21003 - Manufacture of `ayurvedic' or `unani' pharmaceutical preparation	Manufacturing
7	47 - Retail trade, except of motor vehicles and motorcycles	4772 - Retail sale of pharmaceutical and medical goods, cosmetic and toilet articles in specialized stores	47721 - Retail sale of pharmaceuticals, medical and orthopaedic goods and toilet articles	Trading
8	08 - Other mining and quarring	0899 - Other mining and quarrying n.e.c.	08991 - Mining of gemstones (agate, diamond, emerald, garnet (gem), jasper, rubby/saphire etc.	Manufacturing
9	10 - Manufacture of food products	1061 - Manufacture of grain mill products	10612 - Rice milling	Manufacturing
10	10 - Manufacture of food products	1061 - Manufacture of grain mill products	10613 - Dal (pulses) milling	Manufacturing
11	10 - Manufacture of food products	1061 - Manufacture of grain mill products	10614 - Grain milling other than wheat, rice and dal	Manufacturing
12	10 - Manufacture of food products	1061 - Manufacture of grain mill products	10616 - Manufacture of cereal breakfast foods obtained by roasting or swelling cereal grains	Manufacturing
13	10 - Manufacture of food products	1079 - Manufacture of other food products n.e.c.	10795 - Grinding and processing of spices	Manufacturing

14	10 - Manufacture of food products	1079 - Manufacture of other food products n.e.c.	10797 - Manufacture of vitaminised high protein flour, frying of dal and other cereals	Manufacturing
15	46 - Wholesale trade, except of motor vehicles and motorcycles	4620 - Wholesale of agricultural raw materials and live animals	46201 - Wholesale of cereals & pulses	Trading
16	46 - Wholesale trade, except of motor vehicles and motorcycles	4620 - Wholesale of agricultural raw materials and live animals	46206 - Wholesale of hides, skins and leather	Trading
17	46 - Wholesale trade, except of motor vehicles and motorcycles	4620 - Wholesale of agricultural raw materials and live animals	46209 - Whole sale of other agriculture raw materials n.e.c.	Trading
18	46 - Wholesale trade, except of motor vehicles and motorcycles	4630 - Wholesale of food, beverages and tobacco	46301 - Wholesale of fruits & vegetables	Trading
19	46 - Wholesale trade, except of motor vehicles and motorcycles	4649 - Wholesale of other household goods	46491 - Wholesale of toiletry, perfumery and cosmetics	Trading
20	46 - Wholesale trade, except of motor vehicles and motorcycles	4649 - Wholesale of other household goods	46493 - Wholesale of furniture and fixtures	Trading
21	46 - Wholesale trade, except of motor vehicles and motorcycles	4652 - Wholesale of electronic and telecommunications equipment and parts	46524 - Wholesale of telephone, mobile phone and communications equipment and parts	Trading
22	46 - Wholesale trade, except of motor vehicles and motorcycles	4652 - Wholesale of electronic and telecommunications equipment and parts	46529 - Wholesale of other electronic equipments and parts thereof	Trading
		I .	I .	

DATE OF UDYAM REGISTRATION

23/03/2025

Disclaimer: This is computer generated statement, no signature required. Printed from https://udyamregistration.gov.in & Date of printing:- 23/03/2025

For any assistance, you may contact:

1. District Industries Centre: PALGHAR (MAHARASHTRA)

2. MSME-DFO: MUMBAI (MAHARASHTRA)

Visit: www.msme.gov.in; www.dcmsme.gov.in; www.champions.gov.in



Follow us @minmsme &



@msmechampions





^{*} In case of graduation (upward/reverse) of status of an enterprise, the benefit of the Government Schemes will be availed as per the provisions of Notification No. S.O. 2119(E) dated 26.06.2020 issued by the M/o MSME.



भारत सरकार Government of India सूक्ष्म, लघु एवं मध्यम उद्यम मंत्रालय



Ministry of Micro, Small and Medium Enterprises

Udyam Registration Number : UDYAM-MH-17-0181848

Type of Enterprise	MICRO	Major Activity	Manufacturing
Type of Organisation	Proprietary	Name of Enterprise	S K EXPORT AND IMPORT
Owner Name	KALPANA SANJAY MUKHEDKAR	PAN	BNDPG9987K
Do you have GSTIN	Yes	Mobile No.	8454932807
Email Id	ktgaikwad2020@gmail.com	Social Category	General
Gender	Female	Specially Abled(DIVYANG)	No
Date of Incorporation	26/04/2023	Date of Commencement of Production/Business	26/04/2023

Bank Details

Bank Name	IFS Code	Bank Account Number
STATE BANK OF INDIA	SBIN0000290	43353439515

Employment Details

Male	Female	Other	Total
20	10	0	30

Investment in Plant and Machinery OR Equipment (in Rs.)

S.No.	Financial Year	Enterprise Type	Written Down Value (WDV)	Exclusion of cost of Pollution Control, Research & Development and Industrial Safety Devices	Net Investment in Plant and Machinery OR Equipment[(A)-(B)]	Total Turnover (A)	Export Turnover (B)	Net Turnover [(A)-(B)]	Is ITR Filled?	ITR Type
1	2022-23	Micro	0.00	0.00	0.00	745221.00	0.00	745221.00	Yes	ITR - 4

Unit(s) Details

SN	Unit Name	Flat	Building	Village/Town	Block	Road	City	Pin	State	District
1	S K EXPORT AND IMPORT	FLAT NO.E- 101,E WING	SHREE SHAKUN GREENS, BLDG 6	VIRAR WEST	SECTOR II	DONGARE NARINGI	VASAI	401303	MAHARASHTRA	PALGHAR
2	S K FOODS	GAT NO. 139	DEVGHAR VILLAGE	AT/POST- DEVGHAR	PUNE	PANDAN ROAD	TAL- MAVAL	410405	MAHARASHTRA	PUNE
3	S K EXPORT AND IMPORT	GAT NO. 139	DEVGHAR	AT/POST- DEVGHAR	PUNE	PANDAN ROAD	TAL- MAVAL	410405	MAHARASHTRA	PUNE

Official address of Enterprise

Flat/Door/Block No.	FLAT NO.E-101,E WING	Name of Premises/ Building	SHREE SHAKUN GREENS, BLDG 6
Village/Town	VIRAR WEST	Block	SECTOR II
Road/Street/Lane	DONGARE NARINGI	City	VASAI
State	MAHARASHTRA	District	PALGHAR, Pin : 401303
Mobile	8454932807	Email:	ktgaikwad2020@gmail.com
Latitude	19.437139518900686	Longitude:	72.94542201735987

National Industry Classification Code(S)

SNo.	Nic 2 Digit	Nic 4 Digit	Nic 5 Digit	Activity
1	46 - Wholesale trade, except of motor vehicles and motorcycles	equipment	46599 - Wholesale of other machinery, equipment and supplies n.e.c. including computer-controlled machine tools and computer-controlled sewing and knitting machines	Trading
2	46 - Wholesale trade, except of motor vehicles and motorcycles	4669 - Wholesale of waste and scrap and other products n.e.c.	46691 - Wholesale of industrial chemicals,	Trading

3	46 - Wholesale trade, except of motor vehicles and motorcycles	4669 - Wholesale of waste and scrap and other products n.e.c.	46692 - Wholesale of fertilizers and agrochemical products	Trading
4	47 - Retail trade, except of motor vehicles and motorcycles	4721 - Retail sale of food in specialized stores	47211 - Retail sale of cereals and pulses, tea, coffee, spices and flour	Trading
5	47 - Retail trade, except of motor vehicles and motorcycles	4721 - Retail sale of food in specialized stores	47219 - Retail sale of other food products n.e.c.	Trading
6	21 - Manufacture of pharmaceuticals, medicinal chemical and botanical products	2100 - Manufacture of pharmaceuticals, medicinal chemical and botanical products	21003 - Manufacture of `ayurvedic' or `unani' pharmaceutical preparation	Manufacturing
7	47 - Retail trade, except of motor vehicles and motorcycles	4772 - Retail sale of pharmaceutical and medical goods, cosmetic and toilet articles in specialized stores	47721 - Retail sale of pharmaceuticals, medical and orthopaedic goods and toilet articles	Trading
8	08 - Other mining and quarring	0899 - Other mining and quarrying n.e.c.	08991 - Mining of gemstones (agate, diamond, emerald, garnet (gem), jasper, rubby/saphire etc.	Manufacturing
9	10 - Manufacture of food products	1061 - Manufacture of grain mill products	10612 - Rice milling	Manufacturing
10	10 - Manufacture of food products	1061 - Manufacture of grain mill products	10613 - Dal (pulses) milling	Manufacturing
11	10 - Manufacture of food products	1061 - Manufacture of grain mill products	10614 - Grain milling other than wheat, rice and dal	Manufacturing
12	10 - Manufacture of food products	1061 - Manufacture of grain mill products	10616 - Manufacture of cereal breakfast foods obtained by roasting or swelling cereal grains	Manufacturing
13	10 - Manufacture of food products	1079 - Manufacture of other food products n.e.c.	10795 - Grinding and processing of spices	Manufacturing
14	10 - Manufacture of food products	1079 - Manufacture of other food products n.e.c.	10797 - Manufacture of vitaminised high protein flour, frying of dal and other cereals	Manufacturing
15	46 - Wholesale trade, except of motor vehicles and motorcycles	4620 - Wholesale of agricultural raw materials and live animals	46201 - Wholesale of cereals & pulses	Trading
16	46 - Wholesale trade, except of motor vehicles and motorcycles	4620 - Wholesale of agricultural raw materials and live animals	46206 - Wholesale of hides, skins and leather	Trading
17	46 - Wholesale trade, except of motor vehicles and motorcycles	4620 - Wholesale of agricultural raw materials and live animals	46209 - Whole sale of other agriculture raw materials n.e.c.	Trading
18	46 - Wholesale trade, except of motor vehicles and motorcycles	4630 - Wholesale of food, beverages and tobacco	46301 - Wholesale of fruits & vegetables	Trading
19	46 - Wholesale trade, except of motor vehicles and motorcycles	4649 - Wholesale of other household goods	46491 - Wholesale of toiletry, perfumery and cosmetics	Trading
20	46 - Wholesale trade, except of motor vehicles and motorcycles	4649 - Wholesale of other household goods	46493 - Wholesale of furniture and fixtures	Trading
21	46 - Wholesale trade, except of motor vehicles and motorcycles	4652 - Wholesale of electronic and telecommunications equipment and parts	46524 - Wholesale of telephone, mobile phone and communications equipment and parts	Trading
22	46 - Wholesale trade, except of motor vehicles and motorcycles	4652 - Wholesale of electronic and telecommunications equipment and parts	46529 - Wholesale of other electronic equipments and parts thereof	Trading

Are you interested to get registered on Government e-Market (GeM) Portal	Yes
Are you interested to get registered on TReDS Portals(one or more)	Yes
Are you interested to get registered on National Career Service(NCS) Portal	Yes
Are you interested to get registered on NSIC B2B Portal	Yes
Are you interested in availing Free .IN Domain and a business email ID	Yes
Are you interested in getting registered on Skill India Digital Portal	Yes
District Industries Centre	PALGHAR (MAHARASHTRA)
MSME-DFO	MUMBAI (MAHARASHTRA)
Date of Udyam Registration	23/03/2025
Date of Printing	23/03/2025

IEC Details		
IEC Number	BNDPG9987K	
IEC Status	Active	
IEC Registration Date	11012025	
IEC Modifification Date		